



# Tabulation Report BID #12023 - 12023 Vertical Turbine Pump for Kiwanis Park Well

(materials only)

Vendor: LAD Irrigation Co Awarded \*

\*Award 9-25-20 / One-time purch.

Code	Name	Requested Brand	Alternative Brand	Item Vendor Reference #	Unit Price	Qty. Unit	Total Price Notes	Attachments
	Vertical Turbine Pump per Technical Specifications	Goulds, Peerless, Flowserve	Goulds, Peerless, Flowserve		\$18,029.34	1 ea	\$18,029.34 National Pump M14HC-5 STAGE	5
	Column per Technical Specifications	Per Specifications	Per Specifications		\$735.24	35 ea	\$25,733.40	
	Shaft per Technical Specifications	Per Specifications	Per Specifications		\$400.95	35 ea	\$14,033.25	
	Bearing Retainer per Technical Specifications	Per Specifications	Per Specifications		\$181.90	35 ea	\$6,366.50	
	Level Sensor Sch. 80 PVC per Technical Specifications	Per Specifications	Per Specifications		\$2.52	360 ft	\$907.20	
	Stuffing Box packing per Technical Specifications	Per Specifications	Per Specifications		\$50.00	1 ea	\$50.00	
TOTAL							\$65.119.69	

General Comments: +TX = 470,459 = 51

Kiwanis Park Pump Bid pg12 to 17.pdf General Attachments:

Kiwanis Park Pump Bid pg2.pdf





#### Tabulation Report BID #12023 - 12023 Vertical Turbine Pump for Kiwanis Park Well (materials only)

Vendor: Wastewater Solutions, LLC

Code	Name	Requested Brand	Alternative Brand	Item Vendor Reference #	Unit Price	Qty. Unit	Total Price	Notes	Attachments
	Vertical Turbine Pump per Technical Specifications	Goulds, Peerless, Flowserve	Goulds, Peerless, Flowserve		\$17,111.00	1 ea	\$17,111.00	Boesch Vertical Turbine Pump model 14LS-1C ( 6 stages)	
	Column per Technical Specifications	Per Specifications	Per Specifications		\$962.00	35 ea	\$33,670.00	Boesch Column Pipe w/coupling 12" 10 FT Sch-0.365.	
	Shaft per Technical Specifications	Per Specifications	Per Specifications		\$728.00	35 ea	\$25,480.00	Boesch w/lub SS-416 Shaft and Cplg 1-15/16"-X 10 ft.	
	Bearing Retainer per Technical Specifications	Per Specifications	Per Specifications		\$427.00	35 ea	\$14,945.00	Boesch Spider w/Insert 12" X 3" X 1-15/16".	
	Level Sensor Sch. 80 PVC per Technical Specifications	Per Specifications	Per Specifications		\$1.10	360 ft	\$396.00	Georg Fischer 1" Sch 80 PVC.	
	Stuffing Box packing per Technical Specifications	Per Specifications	Per Specifications		\$278.00	1 ea	\$278.00	Boesch w/lub Stuffing Box Assembly.	
TOTAL							\$91,880.00	1	

General Attachments: WWS BID 12023. CITY OF YAKIMA.pdf

**General Comments:** Please see attached quote and submittals.

+tx = \$ 99,506 04



#### Tabulation Report BID #12023 - 12023 Vertical Turbine Pump for Kiwanis Park Well (materials only) Vendor: PumpTech, Inc.

Code	Name	Requested Brand	Alternative Brand	Item Vendor Reference #	Unit Price	Qty.	Unit	Total Price	Notes	Attachments
	Vertical Turbine Pump per Technical Specifications	Goulds, Peerless, Flowserve	Goulds, Peerless, Flowserve		\$19,250.00	1	ea	\$19,250.00	GOULDS 14RJMC 6-STAGE BOWL ASSEMBLY WITH FACTORY TESTING LEVEL 3B	DATA SHEETS-156370-Vertical Turbine Pump for Kiwanis Park Well.pdf
	Column per Technical Specifications	Per Specifications	Per Specifications		\$917.00	35	ea	\$32,095.00		
	Shaft per Technical Specifications	Per Specifications	Per Specifications		\$476.00	35	ea	\$16,660.00		
	Bearing Retainer per Technical Specifications	Per Specifications	Per Specifications		\$267.00	35	ea	\$9,345.00		
	Level Sensor Sch. 80 PVC per Technical Specifications	Per Specifications	Per Specifications		\$691.00	360		\$248,760.00 B \$69100		Sounding tube Submittal .pdf
	Stuffing Box packing per Technical Specifications	Per Specifications	Per Specifications		\$75.00	1	ea	\$75.00		STUFFING BOX PACKING - TEADIT 2255 SYNTHETIC YARN WITH GRAPHITE.pdf
TOTAL	•							\$326,185.00	一米68,77100	

General Comments:

\* error Plustax = # 74,47899

General Attachments: 156370-city of yakima-kiwanis park pump parts.pdf BID FORM-12023 Kiwanis Park Pump - Materials -Water-Irrigation - FINAL.pdf





### Tabulation Report BID #12023 - 12023 Vertical Turbine Pump for Kiwanis Park Well (materials only)

Vendor: Schneider Equipment, Inc.

Code	Name	Requested Brand	Alternative Brand	Item Vendor Reference #	Unit Price	Qty.	Unit	Total Price	Notes	Attachments
	Vertical Turbine Pump per Technical Specifications	Goulds, Peerless, Flowserve	Goulds, Peerless, Flowserve		\$32,000.00	1	ea	\$32,000.00	*Goulds 14RJMC published rating is 420psi, which is less than the 2 times psi at flow (439.8psi)and 1.5 times psi at shutoff (474.75psi). Factory Hydro-static test not included. To increase the rating of the bowl psi rating, changing top 3 stages to ductile iron has rating of 720 psi. The ductile iron stages will add \$9,000.00 to bid item 1. *Goulds 14RJMC largest suction size available is 10" NPT. Included in bid a 10" x 5' suction pipe with 12" x 10" reducing coupling and 12" 304SS cone strainer. *Goulds 14RJMC design point efficiency is 82.3%, and is based on ANSI/HI 14.6 acceptance grade 1B.	
	Column per Technical Specifications	Per Specifications	Per Specifications		\$700.00	35	ea	\$24,500.00		
	Shaft per Technical Specifications	Per Specifications	Per Specifications		\$500.00	35	ea	\$17,500.00		
	Bearing Retainer per Technical Specifications	Per Specifications	Per Specifications		\$280.00	35	ea	\$9,800.00		
	Level Sensor Sch. 80 PVC per Technical Specifications	Per Specifications	Per Specifications		\$2.00	360	ft	\$720.00		
	Stuffing Box packing per Technical Specifications	Per Specifications	Per Specifications		\$250.00	1	ea	\$250.00		
TOTAL								\$84,770.00		

General Attachments: SWS 12023 Kiwanis Park Pump - Materials -

Water-Irrigation - FINAL.pdf

General Comments: +TX = \$91,80591